Vectors 1 Answers

(a) Point D (or vector A_f) )
(b) Point P (or vector AP )

(¢) Point Q (or vector Ab )
OR

Scalar projection
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METHOD 1

At point of intersection:

54+34=-2+4¢
1-2A=2+t¢

Attempting to solve the linear system

A=-1(ort=1)
(3
OP =
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METHOD 2

(changing to Cartesian coordinates)
2x+3y=13,x-4y=-10
Attempt to solve the system

o

Note: Award (C5) for the point P(2, 3).
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Vectors 1 Answers
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Note: Award C4 for B, D and one incorrect, C3 for one correct and nothing else,
C1 for one correct and one incorrect, C0 for anything else.

4) Direction vectors are a=i—3jand b=i—j .
a-b=(1+3)
Ja] =10, 5] =2
cosf = ab [— 4 j
a[[5]\” Viov2
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cosfd =——
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5) METHOD 1

Using a+b = abcosd (may be implied)
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Using cosine rule

34=25+5-25V5c0s6

2
cosl = ———
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(@) V16+9=+25=5 (M1)(AD)
2 4) (6 ,

(b) ( 1 j+2@ - [7] (soBis (6,7)) (MI)(AD)
2\ (4 .

(c) r :( . J-F t[J (not unique) (A2)

Note: Award (41) if “r =" is omitted, i.e. not an equation.

(@) PQ =( > j AIAI

(b) Using r=a+tbh
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